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Answer all 20 questions from Group A, each question

carries 1 marks.
Yu-A | Wi 20 WY & wow ), e 9 &1 HIA 1 3@ 2|
Answer all Five questions from Group B, each question
carries 4 marks.
7u-B ¥ ¥f ufg useil & 9uv & 9ld W &1 W 4 AT B |
Answer all Five questions from Group C, each question

carries 6 marks.
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All parts of a question must be answered at one place in
sequence, otherwise they ney not be evaluated.
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The figure in right hand margin indicate marks.
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(i)
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Which one j

oo I‘IE.IS not a category of maintenance 9
orrective maintenance

(b) Adaptive Mmaintenance

(c) Effective maintenance

(d) Perfectjve maintenance
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In Boehm model, ACT stands for :-
(a) Annual change traffic _

(b) Actual change time

(c) Actual change traffic

(d) Annual change time
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A system that docs nol inlcragl .wnh

external environment 15 called :- )
(a) Open sysiem

(b) Logical system

(c) Hierarichal system

(d) Closed system
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After the finalisation of SRS, we may like

to estimate :-

(a) Size y
(b) Cost _

(¢) Development LIme

(d) All of the above
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A COCOMO mode] ig -

(a) Common cost estimation modej

(b) Constructive Cosl estimation modg|
(c) Complete cost estimation mode]

(d) Comprehensive cos eél‘imalinn mode]
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SRS stands for :-
(a) Software requirements specification
(b) System requirements specification

(c) Systematic requirements specification
(d) None of the above
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Which is not a characteristics of a good
SRS ?

(a) Correct

(b) Complete

(¢) Consistent

(d) Brief
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The basic concepts of ER model are :
(a) Entity and relationship

(b) Relationships and keys

(c) Entity, relationship and attribute
(d) Entity, effects and relationship
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APIs stands for :-

(a) Application performance Interface
(b) Application programming Interfaces
(c) Application programming Integration
(d) Application performance integration
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Spiral model was developed by :-
(a) Bev littlewood

(b) Roger pressman

(c) Berry boehm

(d) Victor basili
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Waterfall model is not suitable for :-
(a) Accommodating change

(b) Small projects

(¢) Complex projects

(d) None of the above
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Which phase is not available in software life
cycle ?

(a) Coding

(b) Testing

(c) Maintenance

(d) Abstraction.
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Statistically,
errors belon
SDLC ?

(n) Coding
(b) Specifications

(c) Design

(d) Installation and maintenance
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Concepls of software engineering are
applicable 10 -

[z}:)i Foriran language orllly

(b) pascal langunge on y

(c)'C Janguage only

(dy All of the above
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Spftware engineering approach is used 1o
achieve:

(a) Better pc
(b) Error free software

(c) Reusable software
(d) Quality software product

igeday gfraRT gfesIv &

rformance of hardware

Which is not @ software characteristic ?

(a) Software does not wear out
(b) Software is flexible

(c) Software is not manu
(d) Softwarc is always correct

factured
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A break in
€ the workinp
(a) Defect tking of a system

(b) Failure
(c) Fault
(d) Error

is called ?
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Testing the software is basically :-
(a) Verification

(b) Validation
(c) Verification and validation

(d) None of the above
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Test suite 1s -

(a) Set of test cases
(b) Set of inputs

(¢) Set of outputs

(d) None of the above
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A node with indegree #0 and
outdegree = 0 is called :

{a) Source node

(b) Destination node

(c) Predicate node

(d) None of the above
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Answer all Five Questions.
ft ofg gE # IR 2|

5. State the di

flerence benween pro

4x5=20

g['am aﬂd Sﬂﬂ‘vm .
4
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What are the responsibilitics and challenges of

Software Engincers ?
diredm sPrR @ RrsRal <K
gatfat @ € 7

Discuss major arcas of th
4
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What is software quality? Write the various attributes

of software quality .
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Explain the importance of maintenance. Which

. :
category consumes maximum effort and why ?
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What is reverse engineering ?

v gohtfrafin @am 7

Differentiate between function oriented design

and object oriented design - 4
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7 atfRvee - :
sifetae Discuss the difference between Functional ang
n
Nonfunctional Requirements .
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What is meant by a code walk through 7
| Explain with examples .
| mﬁqmmaﬂﬁ?wméﬁ
! gofq X |
!ﬁ- What are the advantages of developing the protofype
GROUP -C
of a system ?
4
Answer all Five Questions.
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7. What is software life cycle 7 Discuss the

P.T.O waterfall model .
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What is software testing? Discuss the role of

software testing during software life cycle .

8. Sketch a neat diagram of spiral model of

software life cycle .
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Defined the following terms
(1) Fault
(11) Failure

(ii1) Bugs

frrafafea weg 9 wRarfya &)
(i) ®iee

(i) BR

(iii) 97(H

Write short notes on :-
(1) Data flow diagram
(ii) Data dictionary

ftre feaeft foad |
(i) <1 Tl STFA
(ii)@ﬂwﬁ
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What are various kinds of functional testing :

Describe any one in detall .
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What is SRS ? List out the advantages of SRS ?
6

THITRYE T 27 THARCH @ aral @ Al
T |

OR(3121ar)

Suppose that a project was estimated to be 400
KLOC . Calculate the effort and development

time for each of the three modes i.e. organic,

Semidetached and embedded .
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Define the term"software engineering”. Explain the
Major differences between software engineering
and other traditional engineering disciplines .
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COMO mode .
f effort .

Discuss various types of CO

Explain the phase wise distribution 0
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